
REAR MAIN SEAL ADAPTER  
P/N 38415

This Rear Main Seal Adapter fits a Small Block Chevy with 1-piece rear main seal using 
early crankshaft and early oil pan. 

The mounting surface of the block should be inspected. The factory does not always 
finish machining the area above the two upper mounting holes. It may be necessary to 
clean up this area with a file or de-burring tool. If there is an alignment pin in the lower 
mounting hole on the passenger side of the engine block, it should be removed now. 

Place the Locating Studs onto the Adapter with the Studs sitting in the slots. Remove 
the 5/16-18 x 1-3/4" cap screws securing the top and bottom halves of the Adapter. Install 
the rear main seal. Attach the upper half of the Adapter and Locating Studs with the 
supplied G.M. Gasket to the block using the 1/4-20 x 1-5/8" cap screws in the lower set of 
holes and the 1/4-20 x 3/4" cap screws in the upper holes, (refer to figure A). Hand-tighten 
these cap screws at this time. (The included G.M. Gasket, part # 12555714, is being 
replaced by a new G.M. part #12555771; so either one may be supplied with this kit). Use 
a small amount of silicone sealant where the rear main seal surfaces will meet. Attach the 
bottom half of the Adapter to the top using the removed 5/16-18 x 1-3/4" cap screws and 
torque to 80 in.-lbs. Torque the four 1/4-20 cap screws holding the Adapter to 190 in.-lbs. 

The Adapter is designed for use with a G.M oil pan seal, and must be modified by 
cutting the ends flush. (Refer to figure B). To prevent a possible leak, use a small amount 
of silicone sealant at the corners where the seal meets the Adapter. After the oil pan is 
installed, torque the nuts on the Locating Studs to 84 in.-lbs. 

NOTE: in most cases, a misalignment of up to .015" will seal properly. If it is necessary to 
indicate the Adapter, you may have to remove and turn down the O.D. of the dowels to 
gain movement in the block. It may be necessary to heat the Adapter to remove the 
dowels. After indicating the Adapter, it should be pinned to the block. If there is a history of 
rear seal leakage, or there is a groove in the sealing surface of the crank, we recommend 
using a FEL PRO #BS 11829 rear seal.  

REAR MAIN SEAL ADAPTER 
P/N 38415 

PARTS LIST 
(1) Seal Adapter Assembly (2) 1/4-20 x 1-5/8" Cap Screw
(1) Gasket, Seal Adapter (2) 1/4-20 x 3/4" Cap Screw
(2) Locating Studs

80 CARTER DR • P.O. Box 1470 • GUILFORD, CT 06437 
Phone: (203) 453-6571 • Fax: (203) 453-6906 

PARTS LIST 
(1) Seal Ad pter Assembly  (2) 1/4-20 x 1-5/8" Cap Screw 
(1) Gasket, Seal Adapter  (2) 1/4-20 x 3/4" Cap Screw
(2) Locating Studs 

This Rear Main Seal Adapter fits a Small Block Chevy with 1-piece rear main seal using 
early crankshaft a d early oil pan. 

The mounting urface of the block should be inspected. The factory does not always 
finish machining the area above the two upper mounting holes. It may be necessary to 
clean up this area with a file or de-burring tool. If there is an alignment pin in the lower 
mounting hole on he passenger side of the engine block, it should be removed now. 

Place the Locating Studs onto the Adapter with the Studs sitting in the slots. Remove 
the 5/16-18 x 1-3/ " cap screws securing the top and bottom halves of the Adapter. Install 
the rear main seal  Attach the upper half of the Adapter and Locating Studs with the 
supplied G.M. Gasket to the block using the 1/4-20 x 1-5/8" cap screws in the lower set of 
holes and the 1/4- 0 x 3/4" cap screws in the upper holes, (refer to figure A). Hand-tighten 
these cap screws at this time. (The included G.M. Gasket, part # 12555714, is being 
replaced by a new G.M. part #12555771; so either one may be supplied with this kit). Use 
a small amount of silicone sealant where the rear main seal surfaces will meet. Attach the 
bottom half of the Adapter to the top using the removed 5/16-18 x 1-3/4" cap screws and 
torque to 80 in.-lbs. Torque the four 1/4-20 cap screws holding the Adapter to 190 in.-lbs. 

The Adapter is designed for use with a G.M oil pan seal, and must be modified by 
cutting the ends flush. (Refer to figure B). To prevent a possible leak, use a small amount 
of silicone sealant at the corners where the seal meets the Adapter. After the oil pan is 
installed, torque the nuts on the Locating Studs to 84 in.-lbs. 

NOTE: in most cases, a misalignment of up to .015" will seal properly. If it is necessary to 
indicate the Adapter, you may have to remove and turn down the O.D. of the dowels to 
gain movement in the block. It may be necessary to heat the Adapter to remove the 
dowels. After indicating the Adapter, it should be pinned to the block. If there is a history of 
rear seal leakage, or there is a groove in the sealing surface of the crank, we recommend 
using a FEL PRO #BS 11829 rear seal.  

For Technical Assistance, Call Moroso’s Tech Line at 
(203) 458-0542, 458-0546  8:30am – 5:00pm Eastern Time 

MOROSO PERFORMANCE PRODUCTS, INC 
80 CARTER DR • P.O. Box 1470 • GUILFORD, CT 06437 

Phone: (203) 453-6571 • Fax: (203) 453-6906 

Rev.A 
040301

38415INST
page 1v i s i t  u s  a t  w w w . m o r o s o . c o m 
a

n

s

 
t

4
.

2

https://www.carid.com/moroso/


 REAR SEAL ADAPTER INSTRUCTIONS CONTINUED 

Figure A 

Figure B

REAR SEAL ADAPTER INSTRUCTIONS CONTINUED PAGE 2 

Figure A 

5/16-18 x 1-3/4" 
CAP SCREWS 

5/16-18 x 1-3/4" 
CAP SCREWS

            Figure B 

1/4-20 x 3/4" 
CAP 

SCREWS 

LOCATING 
STUDS 

GASKET

1/4-20 x 3/4" 
CAP 

SCREWS 

GASKET 

ADAPTER 
UPPER HALF

ADAPTER 
LOWER HALF 1/4-20 x 1-5/8" 

CAP 
SCREWS 

CUT  
BOTH ENDS 

FLUSH 

G.M.

USE 
SILICONE 
SEALANT 

HERE

LOCATING 
STUDS 

ADAPTER 
UPPER HALF

ADAPTER 
LOWER HALF x 1-5/8" 

AP 
REWS

G.M.  

USE 
SILICONE 
SEALANT 

Rely only on hig
OIL PAN 
SEAL

OIL PAN 
SEAL

CUT  
BOTH ENDS 

FLUSH 

HERE

h-grade replacement engine parts offered on our virtual shelves.
1/4-20
C

SC

https://www.carid.com/engine-parts.html

	MOROSO PERFORMANCE PRODUCTS, INC
	80 CARTER DR ( P.O. Box 1470 ( GUILFORD, CT 06437
	Phone: (203) 453-6571 ( Fax: (203) 453-6906

	80 CARTER DR ( P.O. Box 1470 ( GUILFORD, CT 06437
	Phone: (203) 453-6571 ( Fax: (203) 453-6906


	MOROSO PERFORMANCE PRODUCTS, INC
	80 CARTER DR ( P.O. Box 1470 ( GUILFORD, CT 06437
	Phone: (203) 453-6571 ( Fax: (203) 453-6906



